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=0,y=-=X
y y 4

(Xx=2)*+(y—6)>=36(1)
P(2,0),Q(-1.6,1.2) (2)

(X—=1*+(y—-3)*=10 .p

D'M'RNAY YV -1 U ONI0RIIN 79 NIMIRY DI XN KP AopIn (1)
Aiwna 2m KP w5 mis iwma n'om K amiaint ,KBC i
X+2y+32-26=0 (2)

K(-3,4,7) (3)



o= 3n=135", 2 1cis(180) = -1 (1)
4 z

Z,-Z, =1cis(90) =i (2)

2¢is(30) = /3 +i

2Cis(150) = —/3 +i

2¢is(270) = —2i

2¢is(90) >(0,2) .p (1)
2¢is(210) —(—/3,-1)
2¢is(330) — (v/3, 1)

n=12 wn? (2)

X' (1)
X7 —b)?+1>1:5(2)
Yy =In(b?+1) (3)
b>0(4)
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b=2,b=-2

X727 a7y nyaon b =-2



ANdIN
f(x)zex(x—Z)
(5-n,0) , (0,n-5) (1)
Y =0 (2)
min(4—n,—e*") (3)

nnoin (4)

®)

(4’ _eA)

F(x)=e*(x—6)+6



